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1 (Initial)
2 (Flight Enquiry)
3 (Seat Enquiry)
4 (Reservation)

5 (Confirmation)
6 (Final)
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Flight Enquiry
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Seat Enquiry
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nitial_panel:
—— Actions for Label

—— Actions for Label

- Actions for Label
eservation_panel :
Actions for Label

P Flig Yo, panel:

(4)
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rom

Display Seat Enquiry Panel \
until
not (wrong answer or wrong choice)
do
Read user’s answer for current panel
Read user’s choice for next step
if wrong answer or wrong choice then
Output error messages

end
Lend
Process user’s answer
case in
@ goto @light_Enquiry_pane
goto 4_Reservation_pane

end -
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require valid _source_ state l g src < 6
valid_choice: 1 < ch01ce <3

ensure valid target_state: < Result < 6
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Level 3 < execute_
sessjon
Level 2
initial transition is_final

Level 1
execute_session display read correct message process
—— Execute a full interd
local (< sé
current_state , choice: INTEGER
do
from
current_state := initial
initial
until
is_final g;;zz;;g;gg;gb)
is_I1inal
do
choice :=- gxecutesstater  CuEESHESSEEEE )
current_state := transition (current_state, choice)
NS AN
end
end
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execute_state ( currentistate : GINTEGER) : INTEGER
—— Handle interaction at the current state.
—-— Return user’s exit choice.
local
answer: ANSWER; valid _answer: BOOLEAN; choice: INTEGER
do
from
until

valid _answer
do

current_state
answer

read_answer (

read_choice (
valid _answer

choice

correct (

if not valid answer then message (
end

answer)
— > eve L=
Result : choice session
end
Level 2
initial transition

is_final

Level 1

display

reae coftect

message process
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display(current_state: INTEGER)
require
valid_state: 1 < current_state < 6
do
if current_state = 1 then

elseif current _state = 2 then

—— Display Initial Panel

—— Display Flight Enquiry Panel

else Level 3 execute_
, , session
—— Display
end
end

Level 2 ﬂ\

initial transition

execute _
state

is_final

Level 1 %

display read correct

message

process
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e APPLICATION

session

?\A\/VZ’\’E_.Q’Z:{'Q . Q’K@Mfe_%m initial transiti% g;;etgute_ is_final |
3/ N .
( display read correct message process
Level 3 execute _ O
session
Level 2 State > ;,/IEKQIZZY‘MQL
- execute d
initial transition — is_final
state - PAviBnt _ &octo - !IdTeAEIZ\Z
state oeonte _corio ( pavent _¢tate)
Level 1 st Stat at State
N—"_" — —— //
display read correct message process
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deferred class STATE
read

—-— Read user’s Iinputs

a I amawer’
-— Set answer’® anad

deferred end
answer: ANSWER

\ N S ~ F ~ A1 rent ~F ¢
—— Answer I1Or current state

choice: INTEGER

- hoice for next step

display
Display
deferred end
correct: BOOLEAN
deferred end
process
require correct
deferred end
message
require not correct
deferred end

execute

good := correct
if not good then
message

reate {CONFIRMATION} s.make

S.83equte







class APPLICATION create make

feature {NONE} - Implementation of Transition Graph ég _ ’?7 [ !C{ !
transition: ARRAYZ[INTEGER] T:’ !
choice]

-— State transitions: transition/[state,
@ARRAY STATE
—-— State for each index, constrained by size of ‘transition’

feature
initial: INTEGER
number_of_states: INTEGER
number._of_choices: INTEGER
make (n, m: INTEGER)
do number_of_states := n
number._of_choices := m
create transition.make_ _filled(0, n, m)
create states.make_empty
end
feature
put_state(s: STATE; index: INTEGER)
require 1 < index < number_of_states
do states.force(s, index) end
choose_initial (index: INTEGER)
require 1 < index < number_of_states
do initial := index end

&, & chqfiée: INTEGER)

require

1 £ src £ number_of_states

1 < tar £ number_of_ states

1 < choice < number_of_choices
do

transition.put(tar, src, choice)
end

invariant

transition.height = number_of_states

transition.width = number_-of-choices
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test_application: BOOLEAN

local

imilarly or o
app.choose_initial
—— Transit to FINAL gi
app.put_transition é
B Similarl/y

ec sult end
user’s y
Z inde = app (s R tem
cu ent_state s

attached {FLIGHT ENQ

rrent te JNITIAL and choice
%%7

for other 10 transitions.

TS
ac. L from INITIAL to FLIG TUS
\@ WWV

' urrent_state

(5)
Confirmation

(4)

U7 .

Flight Enquiry

3)

Reservation

Seat Enquiry

vt et
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| ?Result :=
d
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1T

app

|~ APPLICATION

FINAL
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app APPLICATION

transition: ARRAY2[INTEGER]

states: ARRAY[STATE]

fe
(_execute_sess1io
local

current_state: STATE

choice

HWIN| =W,
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app.states

FINAL

index: INTEGER

do
Jfro /~\
un
is_final (index)
loop
-{7 current_state :=|\states[index]| ——- polymorphism
> current_state¢éxecute

end Zﬁ S'

end

- ic bindi
L:§§§§EE>:= transition.item \(index), rrent_state.choice)
_en

&
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